
SAP ABAP table VTB_SIFX {Transaction in Hedge Allocations}

VTB_SIFX

FMANDT [CLNT (3)]

FBUKRS [CHAR (4)]

SGSART [CHAR (3)]

SFHAART [CHAR (3)]

KONTRH [CHAR (10)]

WZBETR1 [CUKY (5)]

WZBETR2 [CUKY (5)]

AT10

MANDT [CLNT (3)]

SGSART [CHAR (3)]

SFHAART [CHAR (3)]

 VTB_SIFX-SFHAART = AT10-SFHAART 
0..N

0..N

BUT000

CLIENT [CLNT (3)]

PARTNER [CHAR (10)]
 VTB_SIFX-KONTRH = BUT000-PARTNER 

0..N

0..N

T000

MANDT [CLNT (3)] VTB_SIFX-FMANDT = T000-MANDT 0..N

0..N
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VTB_SIFX-FBUKRS = T001-BUKRS 
0..N0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VTB_SIFX-WZBETR1 = TCURC-WAERS 

0..N

0..N

 VTB_SIFX-WZBETR2 = TCURC-WAERS 

0..N

0..N

TZPA

MANDT [CLNT (3)]

GSART [CHAR (3)]

 VTB_SIFX-SGSART = TZPA-GSART 

0..N

0..N


